In Class
Normal Distribution Lesson 1
Ex. 1
1. Given that X is the time spent waiting in line at the Social Security Office that is normally distributed with a mean of 120 min and a standard deviation of 15min, find:
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image10.png
The mean height of players in a basketball competition is 184 cm. If the standard deviation is 5 cm,
what percentage of them are likely to be:

a taller than 189 cm b taller than 179 cm

¢ between 174 cm and 199 cm d over 199 cm tall?
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The mean average rainfall of Claudona for August is 48 mm with a standard deviation of 6 mm.
Over a 20 year period, how many times would you expect there to be less than 42 mm of rainfall
during August in Claudona?
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The height of male students in a university is normally distributed with mean 170 cm and standard
deviation 8 cm.
a Find the percentage of male students whose height is:

i between 162 cm and 170 cm i between 170 cm and 186 cm.
b Find the probability that a randomly chosen student from this group has a height:
i between 178 cm and 186 cm i less than 162 cm

less than 154 cm iv greater than 162 cm.
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